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N* Who interprets the evidence? What is the process?4$%8&/#24(&+#3+*"6(7 +2(#)i6+)*/2)-EL+:. /64
-2(+6*6+(-25#(&+3" ("7 2347 "0-2546+,/ 7 7 +23" (-/ 2)4./6¢,966-,91974/68"))-52 7 +2(¢,& " 25+)#- .4
RXG/*6-" (+=1%8&+213/+)#(&-)i/ , ,96="4
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0" What were the assessment results and what changes have been made as a result of using this
data/evidence? #$%8& " (14+6+i(&+7 "U/6:"))+)) 7 +2(4.-23-25) =4V " ; H(&+6+E++24" 2Di6+, +2 (4,8 " 25+)#(/4
D/96%,966-,91974/6:*6/56" 7=tV / 443-34(&+:"))+)) 7+2(13" (4, /2(6-EQ(+(/#(&/) +#,& " 25+) =k
>S&+)H3" ("4, /2(-29+(/+,/2.-678) /7 +1/ 4(&+7) (6+25(&)4/ .4/ 964, 966+2(5%6" , (-, +Fé

V7 A+ +64-21GWEA T XSQAHEHSEH/1/EDII+* " 6( 7 +2(-- 7 *1- 7 +2(+34 47 "U/686+;-)-/ 241 ()t J6+F>8-)i6+;-)-/ 2¢
T )HEHEH) 01/ £ 2415



